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No A a—k B a—pk
—% VS 1| =HINE VS AN
___________ 5 ol e s a2t
____________ o ol | oot2 o3 |2 |1
1 18 3Q 6 12 3Q 20
9 e ol laa |15
oT oT
51 Total 38 32 Total 67
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____________ 2 ol e 2|2
____________ 3 ol | 19 o0 |2 | 39
2 .. R Q. (N 2 ol 3Q | 29 .
2 4Q 25 0 4Q 44
[ e [ o
13 Total 79 4 Total 154
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____________________________________ 2 | o8 e |12
N R 3Q Q| (.
I NS L O N N O o4 | 13 .
oT oT
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20 | o2 ol o0 |1l 2a |23
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___________ 5 |4 oo e 4T
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S .. I 3Q | < 8 ol Q| 13 .
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____________ 3 ol |ooer o2 | ooo1Q | 0
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o7 laa a7l aa |0
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____________ & . l..4 | 6 |19 |4 | 21
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___________ 18 |4 | 19 o 2 | 4 | 20
oT oT
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om0 a7 I s |10
oT oT
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